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. \% Uf If u,, U, Up ’a(max)l I, ’p Fig.1)
v A v V IV | mAl mA mA
Br-129 cccp) 1 2,38-275 | 9 9000 | 500 1500
Ir1-05/5 | CCCP| 2 2,4 =27 8,5 6400 2850 | 9000 500 1
3200 1425 | 9000 1000 2
RX 21 Eim 3 2,5 10 11000 | 750 3000
10000 | 750 3000
VH 6300 | SFR 4 2.5 10 7100 3200 | 10000 750 - 1
3550 3200 : 10000 1500 ' 2
2V[401 B | STCE 1 2,7 8,25 ' 7000 | 500 1500
4500 | 500 2000
1400 1270 | 4000 1000 L2
0 1000 :
3825 amer 5 | 25 | 5 | liexo | 1et0 | 400 1200 :
1630 1910 | 4000 3000 5
1630 3820 | 4000 1500 6
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249 B WE 6 25 | 75 | |
258 B WE = 7 2,5 1} 7,5} 7500 | 640 | 2500
3017 B LCT 1 25 | 75 7000 | 500 1500
1) vide gr. 58 a
Equivalents
BI'-1,5/5000 CCCP = I'T'1-0,5/5 RX 21-A Eim = RX 21 249 C Amp = 249 B
Br-9 CCCP = BI-129 I T 249 Tay = 249 B 258 A WE = 258 B
Br-10 CCCP = I'T 1-0,5/5 249 A WE = 249 B i 4017 B STCE = 2 V[401 B
A
1 Hg
+15:+35%
642
GAS
Br 129 J - =203 *5
rri- 0,5/5 RX21
A A A
4
GAZ
F gAsa +20:+4707
: £ 500 A
fm #307 A - ope s 7%
5—f90°f
VH 6300 3825 2498 258 B
A 50
d -
/) Br-129
{ / N
6 \-\
7 20 0 7] TET)
Uy
W) Br-129 3825 .
8 3
"]
\\_/__(/
6
) N/
2
q
070 600 1000 1,{mA] 1400 U
wy
14
Uy
(v)
T rr1-05/5
70 300 500 700 900 I,(mA] 1200

[hd

83



